

Name of College - S.S. College, J. Bad

Dept - Mathematics

Topic - Problem on Indeterminate Form (Ind)

GENO: 1

Class - B.Sc I (HONS) Differential Calculus

DATE: 10-08-2020

Time - 10.15 A.M to 11 A.M

Date - 10-08-2020

11.00 A.M to 11.45 A.M

Imp

By - Samrendra Kumar

Problem $\rightarrow$ Evaluate $\lim_{x \rightarrow 0} \left(\frac{\tan x}{x} \right)^{1/x}$

$$\text{Let } Y = \lim_{x \rightarrow 0} \left(\frac{\tan x}{x} \right)^{1/x}$$

Taking log of both sides

$$\log Y = \lim_{x \rightarrow 0} \log \left(\frac{\tan x}{x} \right)^{1/x}$$

$$\left\{ \begin{array}{l} \text{using } \log \frac{m}{n} = \log m - \log n \\ \log m^n = n \log m \end{array} \right.$$

$$= \lim_{x \rightarrow 0} \frac{1}{x} [\log \tan x - \log x]$$

$$= \lim_{x \rightarrow 0} \frac{\log \tan x - \log x}{x} \quad \left[\frac{0}{0} \right]$$

Applying L-Hospital Rule

$$\log Y = \lim_{x \rightarrow 0} \frac{\frac{1}{\tan x} \sec^2 x}{x^2} - \frac{1}{x}$$

$$= \lim_{x \rightarrow 0} \frac{1}{\sin x \cos x} - \frac{1}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2}{\sin 2x} - \frac{1}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2x - \sin 2x}{x \sin 2x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{2 - 2 \cos 2x}{\sin 2x + 2x \cos 2x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{4 \sin 2x}{2 \cos 2x + 2 [\cos 2x - 2x \sin 2x]}$$

$$= \lim_{x \rightarrow 0} \frac{4 \sin 2x}{2 \cos 2x + 2 \cos 2x - 4x \sin 2x}$$

$$\Rightarrow \log Y = 0 \quad \Rightarrow e^0 = Y \quad \Rightarrow Y = 1$$

Problem - Evaluate $\lim_{x \rightarrow 0} \left(\frac{\tan x}{x} \right)^{1/x^2}$

Let $y = \lim_{x \rightarrow 0} \left(\frac{\tan x}{x} \right)^{1/x^2}$ Form ∞

Taking log of both sides,

$$\log y = \lim_{x \rightarrow 0} \frac{\log \tan x - \log x}{x^2} \quad [0/0]$$

$$= \lim_{x \rightarrow 0} \frac{\sec^2 x - \frac{1}{x}}{\tan x}$$

$$= \lim_{x \rightarrow 0} \frac{1}{\sin x \cos x} - \frac{1}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2}{\sin 2x} - \frac{1}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2x - \sin 2x}{2x^2 \sin 2x} \quad [0/0]$$

Again Applying L-Hospital Rule.

$$= \lim_{x \rightarrow 0} \frac{2 - 2 \cos 2x}{2[2x \sin 2x + 2x^2 \cos 2x]}$$

$$= \lim_{x \rightarrow 0} \frac{1 - \cos 2x}{2x \sin 2x + 2x^2 \cos 2x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{2 \sin 2x}{2[\sin 2x + 2x \cos 2x] + 2[2x \cos 2x - 2x^2 \sin 2x]}$$

$$\Rightarrow \log y = \lim_{x \rightarrow 0} \frac{2 \sin 2x}{2 \sin 2x + 4x \cos 2x + 4x \sin 2x - 4x^2 \sin 2x}$$

$$= \lim_{x \rightarrow 0} \frac{2 \sin 2x}{\sin 2x + 4x \cos 2x - 2x^2 \sin 2x}$$

$$= \lim_{x \rightarrow 0} \frac{2 \cos 2x}{2 \cos 2x + 4 \cos 2x - 8x \sin 2x - 4x \sin 2x - 4x^2 \cos 2x}$$

$$= \frac{2}{2 + 4 - 0 - 0 - 0}$$

$$= \frac{2}{6} = \frac{1}{3}$$

$$\therefore \log y = \frac{1}{3} \Rightarrow y = e^{\frac{1}{3}}$$

Evaluate

$$\lim_{x \rightarrow 0} \log_{\tan x} \tan 2x$$

$$\log_a b = \frac{\log b}{\log a}$$

Solution $\Rightarrow \lim_{x \rightarrow 0} \log_{\tan x} \tan 2x$

$$= \lim_{x \rightarrow 0} \frac{\log \tan 2x}{\log \tan x} \left[\frac{\infty}{\infty} \right]$$

$$= \lim_{x \rightarrow 0} \frac{1}{\tan 2x} \cdot \sec^2 2x \cdot 2$$

$$\frac{1}{\tan x} \cdot \sec^2 x$$

$$\sin 2x$$

$$= \lim_{x \rightarrow 0} \frac{\sin 2x \cos x}{\sin 2x \cos 2x}$$

$$= \lim_{x \rightarrow 0} \frac{\sin 2x}{\sin 4x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{2 \cos 2x}{4 \cos 4x}$$

$$= \lim_{x \rightarrow 0} \frac{2 \cos 2x}{4 \cos 4x} \quad \lim_{x \rightarrow 0} \frac{4 \cos 2x}{4 \cos 4x} = 1$$

Evaluate $\lim_{x \rightarrow 0} \log_{\sin x} \sin 2x$

Solution: $\lim_{x \rightarrow 0} \log_{\sin x} \sin 2x$

$$= \lim_{x \rightarrow 0} \frac{\log \sin 2x}{\log \sin x} \quad \left[\frac{\infty}{\infty} \right]$$

$$= \lim_{x \rightarrow 0} \frac{1}{\sin 2x} \cdot \frac{2 \cos 2x}{1} \cdot \cos x$$

Applying
L-Hospit
Rule

$$= \lim_{x \rightarrow 0} \frac{\sin x \cdot 2 \cos 2x \cdot \sin x}{\sin 2x \cos x}$$

$$= \lim_{x \rightarrow 0} \frac{2 \cos 2x \cdot \sin^2 x}{2 \sin x \cos x \cdot \cos x} = \frac{2 \times 1}{2 \times 1} = 1$$

Evaluate $\lim_{x \rightarrow 0} \log_{\tan x} (\tan^2 2x)$

Solution $\rightarrow \lim_{x \rightarrow 0} \log \tan^2 x$

using $\log \frac{b}{a} = \frac{\log b}{\log a}$

$$= \lim_{x \rightarrow 0} \frac{\log \tan^2 2x}{\log \tan^2 x}$$

using $\log m^n = n \log m$

$$= \lim_{x \rightarrow 0} \frac{2 \log \tan 2x}{2 \log \tan x}$$

$$= \lim_{x \rightarrow 0} \frac{\log \tan 2x}{\log \tan x}$$

[Form $\frac{\infty}{\infty}$]

using L-Hospital Rule

$$= \lim_{x \rightarrow 0} \frac{\sec^2 2x \times 2}{\tan 2x}$$

$$\frac{1}{\tan x} \sec^2 x$$

$$= 2 \lim_{x \rightarrow 0} \frac{\sin x \cos x}{\sin 2x \cos 2x}$$

$$= 2 \lim_{x \rightarrow 0} \frac{\sin 2x}{\sin 4x}$$

[0/0]

$$= 2 \lim_{x \rightarrow 0} \frac{2 \cos 2x}{4 \cos 4x}$$

using L-Hospital Rule.

Evaluate

PAGE NO: 06

DATE: 10-08-2020

$$\lim_{x \rightarrow 0} \frac{(1+x)^{1/x} - e}{x}$$

Since $a^x = e^{x \log a}$

Also $\log(1+x) = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots$

Solution $\Rightarrow$ we have to find

$$\lim_{x \rightarrow 0} \frac{(1+x)^{1/x} - e}{x}$$

for $(1+x)^{1/x} - e$

$$= e^{\frac{1}{x} \log(1+x)} - e$$

$$= e^{\frac{x - x^2/2 + x^3/3 - \dots}{x}} - e$$

$$= e^{1 - x/2 + x^2/3 - \dots} - e$$

$$= e \cdot e^{[-x/2 + x^2/3 - \dots]} - e$$

$$= e \cdot e^{[-x/2 + x^2/3 - \dots]} - e$$

$$= e \left[e^{(-x/2 + x^2/3 + x^3/4 - \dots)} - 1 \right] - e$$

Now we know $e^x = 1 + x + \frac{x^2}{2} + \frac{x^3}{6} + \dots$

$$e^{-x} = 1 - x + \frac{x^2}{2} - \frac{x^3}{6} + \dots$$

$$= e \left[1 + \left(-x/2 + x^2/3 - x^3/4 + \dots \right) + \frac{1}{2} \left(-x/2 + x^2/3 - x^3/4 + \dots \right)^2 + \frac{1}{6} \left(-x/2 + x^2/3 - x^3/4 + \dots \right)^3 - \dots \right] - e$$

$$= \lim_{n \rightarrow 0} \left[\left(1 - \frac{1}{2} + \frac{n}{3} - \dots \right) + \frac{n}{12} \left(-\frac{1}{2} + \dots \right)^2 \right]$$

$$\therefore \lim_{n \rightarrow 0} \frac{(1+n)^{1/n} - e}{n}$$

$$= \lim_{n \rightarrow 0} \exp \left[\left\{ -\frac{1}{2} + \frac{n}{3} - \dots \right\} + \frac{n}{12} \left(-\frac{1}{2} + \dots \right)^2 \right]$$

$$= e^{\left[-\frac{1}{2} + 0 - \dots \right] + 0 - \dots}$$

$$= \cancel{e^{-1/2}} - \frac{e}{2}$$

v. imp.

show that.

$$\lim_{n \rightarrow 0} \frac{(1+n)^{1/n} - e + \frac{en}{2}}{n^2} = \frac{11e}{24}$$

Solution : $\rightarrow \lim_{n \rightarrow 0} \frac{(1+n)^{1/n} - e + \frac{en}{2}}{n^2}$

$$= \lim_{n \rightarrow 0} \frac{e^{\frac{\log(1+n)}{n}} - e + \frac{en}{2}}{n^2}$$

$$a^x = e^{x \log a}$$

$$= \lim_{x \rightarrow 0} e^{\frac{1}{x} \left(x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots \right)} = e + \frac{1}{2}ex$$

$$= \lim_{x \rightarrow 0} e^{\frac{x^2}{2} \left(1 - \frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)} = e + \frac{ex}{2}$$

$$= \lim_{x \rightarrow 0} e \cdot e^{\frac{x^2}{2} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)} = e + \frac{ex}{2}$$

$$= e \lim_{x \rightarrow 0} e^{\frac{x^2}{2} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)} = 1 + \frac{ex}{2}$$

$$= e \lim_{x \rightarrow 0} \left\{ 1 + \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right) + \frac{1}{2} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^2 + \frac{1}{6} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^3 - 1 + \frac{1}{2}x \right\}$$

$$= e \lim_{x \rightarrow 0} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right) + \frac{1}{2} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^2 + \frac{1}{6} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^3 + \frac{1}{2}x$$

$$= e \lim_{x \rightarrow 0} \left[\left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right) + \frac{1}{2}x^2 \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^2 + \frac{x^3}{6} \left(-\frac{x}{2} + \frac{x^2}{3} - \frac{x^3}{4} + \dots \right)^3 + \frac{1}{2}x \right]$$

x^2

$$= e \lim_{x \rightarrow 0} \left(\frac{x}{3} - \frac{x^2}{4} + \dots \right) + \frac{1}{2} x \left(-\frac{1}{2} + \frac{x}{3} - \frac{x^2}{4} + \dots \right) + \frac{x^2}{6} \left(-\frac{1}{2} + \frac{x}{3} - \frac{x^2}{4} + \dots \right)$$

x

$$= e \left(\frac{1}{3} + \frac{1}{4} \cdot \frac{1}{2} \right)$$

$$= e \frac{8+3}{24}$$

$$= e \frac{11}{24} = \frac{11}{24} e$$